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[HSTU : 18-19]

®Show Explanation

D. ¥4 (GRFAIRG

Chapter (2): @9® T

©) H e
A. 5957 B. TEARIT GFRIZE
(©) 15,N =ZABet fRBET et To?
A7 B. 8
Fe,S; G K, T 992
A. 96.85° B. 110s*
(@ HRABHARR g rfo?
A. Ag B. Au
®) Rew Afite @@ Qift FRww G w39

A. CaF,(Kgp=4x10"1) B. Ag,S(Ksp=1.610"")

® e B SR A T T

C. 108s?

C. Ag3PO4(K;,=1.8x10718)

[HSTU : 19-20]

®Show Explanation

[HSTU : 19-20]

D. 22

®Show Explanation

D. 108S°

[HSTU : 19-20]

D. None ®Show Explanation

[HSTU : 19-20]

®Show Explanation

D. Al(OH);(Kyp,=2.0x107)

[HSTU : 19-20]



A 9E-@ B. e A0 C. ufe af 7l
AR AT OF F9?

A. 1672 x 10 %4g B. 1.675 x 10'%%g C. 9.11 x 10"28g
Na* @I 6 Jerea Rwpiae

Aofs B.10 6 cufs

A K B. Cu™ C. Na'
wfrEa feew @b Tz =
A, MRI B. X-Ray C.IR

A. NH* B. AI** C. cu®*
QITATETITRA TR FHAWRA [T @iaf?

A, nsznp(J B. npznp6 C. nsznp5
FTifEs It @mib?

A, TOTGw B. G c. et

D. 5.488 x 10"4g

D. 12

D. nsnd®

D. =if&&Gw

(@ He ¢ 2 T JETCTR P17 (I et W T +1/2, 1/21 @6 (I S wrpraet

F@?
A. @R g S B. WETFIE S C. T0e7 Aife
e QA Bo Wt Jerela g et A @ ze -

A. 2n? B. (21+1) C. 2(2l+1)
U CEFCBIANITS TR IS U (FI(6?

A. O, B. Cl, C. N,

D. “iff T Fife

D. 2(1+1)

®Show Explanation
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: 18-19]

©Show Explanation

[HSTU : 18-19]

®Show Explanation

[HSTU : 18-19]

®Show Explanation

[HSTU : 18-19]

@Show Explanation

[HSTU : 18-19]

®show Explanation

[HSTU : 18-19]

@Show Explanation

[HSTU : 18-19]

®Show Explanation

[HSTU : 18-19]

©Show Explanation

[HSTU : 17-18]

®Show Explanation

[HSTU : 17-18]

®Show Explanation



PN EFNEIAE FEABT TTGe0? [HSTU : 17-18]

A. OefEF Bt B. fmmiet st C. T “iree D. “ires
fea @l ifre e ww? [HSTU : 16-17]
A. NayS0, B. Na,SO0, C. BaSO, D. CuS0,

@) I e R =M sitezm Ao 1wfe @2 [HSTU : 16-17]
A. @I B. *iToH C. =ifa= D. f&are
(®) % *f&q T (AT AT TR TR S W (0w APIE B e K [HSTU : 16-17]
A. TR ffae B. T e C. *iee fifte D. gt fifew

Chapter (3): UG ‘?f?ﬁﬂ?[@ ¢ @ IAIF T

Fee A oyt wHize? [HSTU : 19-20]
A. Na,0 B. Al,0, C. Ca0 D. K,0

G W& FeE- [HSTU : 19-20]
A3 0, B. 37 CO, c. 7 H, D. ¥ cl,

K,[Fe(CN),] &fbe Gt Fe @R it eyl T©? [HSTU : 18-19]
A +2 B. +3 C.+4 D. +6

i wiferern ffEew *Biow w<g- [HSTU : 18-19]
A 18 B. 0 &tst C. 1v &t D. v &t

o @Al Teedt wize? [HSTU : 18-19]
A. CO, B. Mg0 C. Na,0 D. ZnO

fea el % oAy e [HSTU : 18-19]

A F, B. Br, C. (:l2 D. I, ®Show Explanation



® e @foTs st T ¢1%?

A. HCl B. CCl, C. H,0
() CTC THRET TGS FACS A PR I A1 WA?
A. HNO; B. HyS0, C. Hcl

T agfers fEremzs e Wfe west sheat T2

A. NaAlSiO,. 2H,0 B. NaAlSiO,. 3H,0 C. NaAlSiO,. 4H,0

© TP ol fese et aierfo Jeze =
A.Ra B. Fr C. Th

® 53 @ e 2w m IF AT T

A. Sp° B. sp? C. dsp?
d F&F 5T Gl FAf?
AV B. Cr C. Mn

() CAFTIRARA FOIT TR CFCE (P A7

A. CI>F>Br” B. Br>Cl>F C. F>CI>Br"
A, NaCl B. CsF C. CaCl,

() 1 IR IR AR et B @ SAere e A

A. ECGITS TF B. ST IF C. (P-=fSTTs a5
feea @ s tfRie?
A. CO, B. SO, C. H;0

(@) AYEF SN @1 FF agf 7=

..CSF

. HO+H,0

. NaAlSiO,, 5H,0

. dsp?

. Sc

. CI=Br>F

. AlCl

. Co*BIZE IF

. CH,0

[HSTU : 18-19]

®Show Explanation

[HSTU : 18-19]

®Show Explanation

[HSTU : 18-19]

@Show Explanation

[HSTU : 18-19]

®Show Explanation

[HSTU : 18-19]

@Show Explanation

[HSTU : 18-19]

®Show Explanation

[HSTU : 17-18]

®Show Explanation

[HSTU : 17-18]

®Show Explanation

[HSTU : 17-18]

®Show Explanation

[HSTU : 16-17]

®Show Explanation
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A Li B. Cs C.K
@ IR IR AR oo B @ Feret & wm?
A. SR IF B. QYRGS IH C. TG TF

@) p FFF G N (ATF ©F (T (I F<! I WR?

A. iR B. fRead C. SEEATibiel
A, 7= ARE B. fage redm C. TR

A, Bfmam B, Wi C. @es

D. Rb @Show Explanation

[HSTU : 16-17]

D. FABE 7T @Show Explanation

[HSTU : 16-17]

D. C@'ﬁﬁ «q ©Show Explanation

[HSTU : 16-17]

D. fareidw frififen ©Show Explanation

[HSTU : 16-17]

D, (&= ®Show Explanation

Chapter (4): TS 2faqeq

1% NaOH &IC9d pH ¥97

A. 0.6 B. 1.0 C. 13.0
v @l e Rid

A. C+0=C0, B. N;+0,=2NO C. CH,+20,=C0,+2H,20
e IwTTRR W @D TEeE?

A. F, B. N, C. HF

(9) I *wfSre NH, Teomwiee feee el e o

[HSTU : 19-20]

D. 134 ®Show Explanation

[HSTU : 19-20]

D. 2H,+0,=2H,0, @Show Explanation

[HSTU : 19-20]

D. He ®Show Explanation

[HSTU : 19-20]

A. Mo B. Fe C. Ni D.Cr
@ TR T @1 AFR 39 Rega? [HSTU : 19-20]
A. NaHCO; + HyCOq B. CH;COONa + CH3COOH C. Na;HPO4 + H3PO, D. NH,C] + NH,OH
0.15 ml, 0.15M CH,COOH &% 6ml 0.15 M NaOH &3 Gatst %4t 2, fprerw pH fefy wva? [HSTU : 18-19]

[p¥2=4.76]



A. 4.58 B. 4.85

(o fea b v fRiferat?

A.C*Oz—*COZ B.N2+02—>NO

@ G R = afie?

A. HClO, B. HCIO,

@ & wifTel Sge?

A. HNO4 B. HCIO;

A, pH oAfaeq = B. p! +ffgeq g =

(9 Tl R @ eimfen +faeq = o e <5l

A. s =& B. f¥fe =&

A. B. CaC03;—Ca0+CO0,
CH4CO0C,Hs+H,0—C,HsOH+CH;COOH

®) afer Siget 187 s Rom T
A K. B. K
(9) 3o o L3y imfh?

A. Ruarem e 19 ¥ B, Frjfaeet W =

@) PR @ S @ef Fgen

A, R/ B, o= /oo

(@ IR “RfSTS NH3 TeAmIcT Fewa civif ereia f3eral fommre?

®Show Explanation

C. 585 D. 6.85

[HSTU : 18-19]

®Show Explanation

C.S+ 02 - SOZ D. ZHZ + 02 - 2H20
[HSTU : 18-19]

C. HCl ®Show Explanation

D. HCIO,

[HSTU : 18-19]

®Show Explanation

C. H3PO, D. H,50;

[HSTU : 18-19]

C. pH qf?q(@ oEet 9t D. TR ®Show Explanation

[HSTU : 18-19]

C. (IiE & D. wEEa =fE ®Show Explanation

[HSTU : 17-18]

C. D. ®Show Explanation

AgNO;+NaCl—NaNO5+AgCl CuS0,.5H;0—CuS0,.3H;0+2H,0

[HSTU : 17-18]

@Show Explanation

[HSTU : 17-18]

C. e $3Fa I @ D, ofie Al et Wi

®Show Explanation

IE
[HSTU : 17-18]
. SRue /R . WiEgEelrs/Fifvies

[HSTU : 16-17]



A, SiEIE 8 o MR RSz s i L SO i R i B A b R RSz s xl  ©Show Explanation

foen ben
Chapter (5): FJq TR

Mg(OH), 43R H,0 &% fefee =1 =- [HSTU : 19-20]
A, T B, TG C. St D, et
BHT f& &1 gege = [HSTU : 18-19]
A. USRS awers B, Reeeibe averd . wfbefes D, «figEs
LSERR A R EL e [HSTU : 18-19]
A. celifbey B. THIFOTE C. S D. rfEe
CIDIRTE AwfSTe Cofy Tl I - [HSTU : 17-18]
A. BT B. TG C. ST D. (FII%TE™
(@ FrReCHe R W ety 2 w7 [HSTU : 17-18]
A. JFREE 10% &I B. SO 60° C. GTSEN D. Wi “Ares
forri tefam w3 et 2 [HSTU : 16-17]
A, 15ml CH;COOH +85ml B. 8ml CH;COOH + 92ml C. CH3CH,COCH;3 D. CH,COOH &

H,0 H,0 &CH;CHO CH;COOCH;
TEHETF QRGP R [ oAhewt Tr? [HSTU : 16-17]
A. JFE + TR B. U + IR C. WD + gEE D, PR

Subject : T fao @

Chapter (1): #fqt= g1

Mex T cifmm SR Rare o [HSTU : 19-20]

A. CO B. CO, C. S0, D. CEC @show Explanation



@ FF SiFaE N, @9 1 B 997 «ifenfE v unf?

A. 0.082 jk’lmol? B. 1.987jk 'mol! C. 8.314jk 'mol!
(¥ ST STP IC?

A. 25%C , 1atm B. 0°C, 760 cm AW C. 0K, 760 cm
fies @R 937 afie?

A. BF; B. NH; C. OH

D. 8.314 x 10’mol™!

D. 0°C, 70 cm AW

D. NH,

(®) WHO &7 J7iife SISt ppm GFC Sfaees Tl QA Nt o7

A. 0.01 B. 0.05 C. 0.04
MBI I i TeAfye s «oi-
A, CH, B. CO C. CFC

D. 0.06

D. S0,

Chapter (2): (&< A

[HSTU : 18-19]

®Show Explanation

[HSTU : 18-19]

®Show Explanation

T~
&
d
%

: 18-19]

®Show Explanation

[HSTU : 17-18]

®Show Explanation

[HSTU : 17-18]

®Show Explanation

(9) © fofer oriiam v ArFRE Ao zar

A. 500°C B. 800°C C. 1000°C

A. 80.1°C B. 103°C C. 18.15°C

A. CH,CHOHCH,Z B. CH,COCI C. CH;COCH;
At = A FFFEe T @FHo?

A. -CHO- B. -COOH C. -NO,
RIS 3R s

A. a-D glucose B. a-D galactose C. B-D glucose

D. None

D. None

D. CH;CH,0H

D. -NH,

D. B-D galactose

[HSTU : 19-20]

®Show Explanation

[HSTU : 19-20]

®Show Explanation

[HSTU : 19-20]

®Show Explanation

[HSTU : 19-20]

®Show Explanation

[HSTU : 19-20]

®Show Explanation



(®) AT FRAPA w7 @l W= @ ifb [ =0 [HSTU : 19-20]

A oI B, #fwBm c. Gwm D, AFrBiEf
iR sifEfe afftes S @ii? [HSTU : 19-20]
A. ceTER BT B. B afte . e afre D. SUEFTER «fte
@A REHRFET WirEEhe @i [HSTU : 19-20]
A, TR B. @fe EHFEIEE C. e D, L
TEFAHCE LTS (FA6? [HSTU : 18-19]
A. CgHg B. CeHyo C. CgHyy DiCH,
foerem i «fie sheat Tra? [HSTU : 18-19]
A. H,50, B. HCl C. H-COOH D. CH,-COOH
FTRAR SR FHD? [HSTU : 18-19]
A. HCNO BCH, C. NH,NO, D. NH,CNO
FIRfoR “ForeT @ [HSTU : 18-19]
A, GPIAFT B. firaw C. RAZH GEACIIA D. fizs @mize
() IR F e Bedmee affEw @ei? [HSTU : 18-19]
A. et st B. Rt fafewat C. g R D. efegei faferat
® Fwa b e et T [HSTU : 18-19]
A, @& B. fAfefem C. MIFEEA D. Blank

WWWWW [HSTU : 17-18]

A, 2-F2i%e-2-REb= B. B2 C. 2-fiige-2- B D. &b @Show Explanation

1°,2° 3° wifieR e =ity et Tare I9ge - [HSTU : 17-18]



A. HNO4 B. In 8 HCl C. HNO; D. CHCl;
5,1 @< E1 Rférae o5 s S sgw @ io? [HSTU : 17-18]
A, S-ES TEE B. TEFEAR TRE C. caifss @ D, faeerw wee
(9) e e TEE e o feiieT =7 @F? [HSTU : 17-18]
A. TR B. 5937 C. THATSA D. TFBITSFT
() 2 WEFIRER AE Te TR ToF e et Fawe Beoiy =R- [HSTU : 17-18]
A, FEAGZTE B. WFERbZRS C. R D. &
i afte T3 IR T wite? [HSTU : 16-17]
A3 B.1f c.2f D.4f6
(©) 5o R T sideeae I8 - [HSTU : 16-17]
A. CH;CH,OH '8 B. CH;CH,;NH, '8 C. CH5CH,COCH; '8 D. CH3COOH '8

CH5CHOHCH, CH3CH,NHCH; CH,CHO CH3COOCH,

(©) AR afegrm Ricam fwe @ @i wed-+prat fots [HSTU : 16-17]
A. -COOH B. -OH C. -NO, D. -CHO

® UfeRe 4 e Fren FRee Jai 2@ [HSTU : 16-17]
A. e B. I3 C. LS D. gifeTFite

(®) TRA Fig Sormre ReTR whewt 72 [HSTU : 16-17]
A. 5% B. ¥ei7 c. fortzm D. AR

Chapter (3): =f<sese T+

250 dm® 0.4 M Na,CO; &JCH TS &l Na,CO5 WITe? [HSTU : 19-20]

A. 26,5 B. 10.6 C. 8.6 D. None ©Show Explanation

e S s A Twe [HSTU : 19-20]



A, MnOz B. CO C. lz D. HZOZ

(@) *BIFET ARTRATABT SR T OGS ARHRC A I YrestifAres qaet Fege F
s wB?

A +7 @ +2 B. +7 20© 45 C. +6 2(© +3 D. +5 09 +2
5% Na,CO, B =S +©?
A 027 M B. 047 M C. 089 M D. 098 M

K,Cr,07 + FeSO4+ HyS0, — K350, + Cry(S0,)3+Fey(S0,); + Hy0 RfFaifirs wee e
e GIerRYE WS FH{6?

A. 16 B. 6:1 C.71 D. 7:6

@ fed 5(N) ey QRGHIZC 4TS FA0S FOZF NaOH “AMI?

A. 100g B. 200g C. 300g D. 500g
1 Gt ~Hiff &3 o are
A. 18 B. 20 C. 36 D. 18

®) G TP A Rt F@ 1L TS 0.03mg WS #heat ot @ stifrs S
N 97

A. 30 ppb B. 300 ppb C. 30 ppm D. 300 ppm
TS ARG F oA Al Fo7
A. 46.66% B. 47.66% C. 48.0% D. 45.66%

500 ml 0.5 M Na,CO; &3¢ {Sfd $40S FORF Na,C0,9q ATHGA?
A. 53g B. 10.6g C. 26,58 D. 2.65¢

5% NaOH €9 1000 mL &Y ¥ AW NaOH CF?

A. 5g B. 25g C. 40g D. 50g

®) e @Al e e g Ta?

®Show Explanation

[HSTU : 18-19]

®Show Explanation

[HSTU : 18-19]

®Show Explanation

[HSTU : 18-19]

®Show Explanation

[HSTU : 18-19]

®Show Explanation

[HSTU : 18-19]

®Show Explanation

[HSTU : 18-19]

®Show Explanation
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®Show Explanation
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[HSTU : 18-19]

®Show Explanation

[HSTU : 17-18]

®Show Explanation
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A. HCl B. N32C03 C. NaOH D. Na25203

Na—Na*+e” Rferifice <=1t =3- [HSTU : 17-18]
A, e e B. & fRfeFa C. wid-ag Rfern D, fReraet-=e it @Show Explanation

K, [Fe(CN)c]2 @ Fe @9 &IF4 Fel 97 [HSTU : 16-17]
A +4 B. +2 C.+3 D. -4

40mL 0.05 M HCI eMfi(® 4TS 0.1 M NaOH &I (F WS F0s- [HSTU : 16-17]
A. 10mL B. 15mL C. 20mL D. 40mL

(@ 250ml 0.1M T affe g9 tefs TS F© T AN GHFE afires ae 23? [HSTU : 16-17]
A. 12.6g B. 2.25g C. 6.3g D. 6.86g

R CRTe BiEe Awie? [HSTU : 16-17]
A, NaOH B. Na,CO4 C. Na,C,0,4 D. Kycr,04

@S REta? [HSTU : 16-17]
A. SnCl, B. KMnO, C. KyCry0; D. @ADL 71

«f5Te =R BRI AR ‘Blue' (&%) Foias fFeig 76 It [HSTU : 16-17]

A. Violet — red B. Yellow— red C. Colourless — red D. Yellow—blue
Chapter (4): Sfoe TR

(9) TEPIT AW {1 AR 4TS O, Fesa @i aigfs 2zl Taem w3widee & g [HSTU : 16-17]
FAIAIR, FAE?

A. TR B. =i . cifeam D. ez

Chapter (5): SItafes T

®) Pt @F TAme @7 w© Wit I Sy wA? [HSTU : 19-20]

A. CaO.SiOz B. CaO.A1203 C CaO.Fe203 D. A1203



B PPl @ *owa oo H,50, IITS T? [HSTU : 18-19]

A. 3.5% B. 2.5% C. 0.5% D. 1.5%
P g a4 FisE @ib? [HSTU : 18-19]
A. Ca0 B. AL,0, C. Mg0 D. CaC0;.MgCO;
Fraifie g aiqie s @mfo? [HSTU : 18-19]
A @9 B. TR C. 5 D. W7 At
(©) TS TR IR T TAMIT I AWF? [HSTU : 18-19]
A. i B. HGAf C. creyeEe D. WBI%

(@) FTR I TAWMED AT FFET QTS ITG? [HSTU : 17-18]
A. il s B. SRR c. free =i D. 2%
iR @fe wwed q=t o e [HSTU : 17-18]
A. it ey B. oS féteg c. =5 forg D. JPiw ficg
®) e T© Lofire @Al ITe T [HSTU : 16-17]
A. Nacl B. NaHCO3 C. NaOH D. Na,CO,

Subject : THOF Sifd® AT *iq

Chapter (3): =

k @R Nq F© LA x-y+5 =0 , x+y-1=0 € kx-y+13 =0 @RITH TN 23?7 [HSTU : 18-19]

(®) (@ AT TR NGRS (1,5) Regee Tafaxfes s of e @ Afwad @Hie? [HSTU : 18-19]

A x+5y=10 B. 5% - y =10 C.5x+y=10 D. (FIEAIBE T ©Show Explanation



Chapter (7): A& @ad farzdfifes wqire

0= sinl(g) R e (cosecd ] N o]l & P 97 [HSTU : 18-19]

A.5/4 B. 4/5 C. 4/25 D. 16/25 @Show Explanation

Chapter (8): T 8 FIRHATTF ET2iba

f(iﬂ)=é+\/x—l&ﬂ§651m7{¢3? [HSTU : 18-19]

A. (-20,0) B. (0, =) C.(-2,0U(,=) D.(1, =) @Show Explanation

Chapter (9): S REIEEL|

Ltg o i = =3P 9?7 [HSTU : 18-19]

‘ sinf

d/dx {sin"}(cosx)}=? [HSTU : 18-19]
A -1 B.x C.1/x D.1

y=e?¥*1 T, dy/dx 4 T F7? [HSTU : 18-19]

Chapter (10): @IS

1 o
/ sin” ! zdz @ N @HG? [HSTU : 18-19]
0
™ T T .
& el — -1 — il

Subject : Tweq Afde fTeiw 2@
Chapter (1): 98T 3l

-9<x<-1 SHASIBCE AFANC I FACA VG- [HSTU : 18-19]



A, 1X+5 1<4 B. 1X-5 <4 C. Ix+41<5 D. 1X-41<5 @Show Explanation

M a,b VI TP T G c=ab T, ©F F99 c<a AR c<b TR? [HSTU : 18-19]
A.ab>1 B. a,b<l C. 0<a,b<1 D. a1, b<l

Chapter (3): &fbel et

z=x+iy T, 12z-1 1= 1z-2| J0SF IPNE F©? [HSTU : 18-19]
Al B.2 c3 D. 4

Chapter (4): Il @ I@oM! ANF9

3x2-2x+1=0 ANFACIT TG 04 B F©7 [HSTU : 18-19]

A -2/3 B. 2/9 C.2/3 D. -2/9 ©Show Explanation
@i fagre T 93fs @ V-5 -12 [HSTU : 18-19]

A. X%42x+6=0 B. x2+x+3=0 C. x242%-6=0 D. x%+x-3=0 ®Show Explanation

Chapter (5): fa=@! fagfe

PR fagrem gom e @Eib? [HSTU : 18-19]
All B:12'1 C.1331 D.14641
(a+b)?? @3 fagfere wgem- [HSTU : 18-19]
A 119 B. 12 o C. 16 o9 D. 18 9
1+3+5+......+1001 ¥IFF @IF F©? [HSTU : 18-19]
A, 251001 B. 250101 C. 250011 D. 250001

Chapter (6): Ffa<

y=2x+c @AM y2=6x *RFEFT = 91 ¢ 97 T FMAMDB? [HSTU : 18-19]
A. 3/4 B. 3/2 C.1/2 D. 3



Chapter (7): 7dre fatzefifes Fem ¢ fawmffes T

n G G ZE sinfnrr + (-1)77/3} 97 T FO? [HSTU : 18-19]
1 2 N3

Chapter (8): fgfsfamn

® p, 3P, P 37 foAfb AR Wr | &4 2 W TS @1 FO? [HSTU : 18-19]

Chapter (9): 7= qEFAE *fS

(@) FORTH I (Fow=t T30 wfe vy T et Swom Bawar [HSTU : 18-19]

A. 49 m/s B. 9.8 m/s C. 147 m/s D. 19.6 m/s ©Show Explanation

©) 9= T Tt G AT TR @M A GR 3.5 sec AW FFAM FUA TG ASAX [HSTU : 18-19]
% C T | MTHE (@7 327 m/s GRR g=9.81 m/s A FLAF AOS! F©?

A 545 m B. 555 m C. 60 m D.62m ©Show Explanation

@ GG CTIF 49 m/s @Y GI(6 T et ToAaw fae Aot 3o Tt T© 9w Aoy o= [HSTU : 18-19]
FIR?

A 98 s B. 98s C. 100s D. 10s ©Show Explanation

Chapter (10): @19 #fasil @ =g

® 2 =&t w3 fFowst w3t e 12 = S eyt Fe? [HSTU : 18-19]
A 6 B.1/6 C.1/24 D. 1/36
(®) @ @I GT6 A '8 B 0 (@A 7T (552 [HSTU : 18-19]
A .AUB=BNA B.LAUB=BUA CCAUB=B D.ANB=A

Subject : QARG AT A«



A. @S B. &Sl® c. afewis D. YOS
TR I AT [HSTU : 15-16]
A. R B. WA T C. Bo e D, Bofire e
oS! @ FE? [HSTU : 14-15]
A. ST B. TqEm C. R D. 79
@ T =1%o i TN g ? [HSTU : 14-15]
A, Totow wesjmE B. SIS C. IR D. TR
ey e Saread e 7 [HSTU : 14-15]
A. T B. &ot=t C. &=t D. a7

Subject : RAE - AT 8 SFFAN

Chapter (0): Adjective

A seventeen year old is not to vote in an election [HSTU : 18-19]
A, old enough B. as old enough C. enough old D. enough old as
His father was so honest___. [HSTU : 16-17]

A. in his job B. that we short respect C. that all respect him  D. that he is simple ©Show Explanation

Chapter (0): Analogy

Find the synonym of the wordsFire:Ashes [HSTU : 16-17]

A, Accident: Delay B. Wood: Splinters C. Event: Memories D. Water; Waves @show Explanation

Chapter (0): Article

Choose the correct sentence: [HSTU : 19-20]



A. He speaks French like B. He speaks French like C. He speaks the French D. He speaks the French [EeEitugzsdeiety

French. the French. like French like the French

Choose the correct sentence. [HSTU : 18-19]
A. Rich is not always B. The rich is not always C. The rich is not happy D. The rich are not ©Show Explanation
happy happy always always happy

Fill in the blank with the appropriate word, phrase, and clause(s):_______ art of Bonsai : 18-19]

originated perhaps more than 1000 year ago in China.

T~
&
d
%

A. The B. A C. None D. An ®Show Explanation
— Bangladesh Japan friendship hospital [HSTU : 18-19]
A. The B. an C.a D. None of the above

............ Statue of liberty was a gift of friendship from France to.......... USA [HSTU : 17-18]

A. The, of B. The, an C. The, the D. The, a ©Show Explanation

He made ___ few mistakes. [HSTU : 16-17]

A. an B. the C. no article D.a ©Show Explanation

"___mother arose in her". what will be the correct article in the sentence? [HSTU : 16-17]

A. An B. A C.X D. The ®Show Explanation

Mr. F. Khandakar has obtained___ F. R. C. S. [HSTU : 16-17]

A a B. the C.an D. none ©Show Explanation

You are____ Nazrul. [HSTU : 15-16]
A. the B. to C.a D. an

He maintains ___office. [HSTU : 14-15]

A. an B. the C.a D. this ©Show Explanation

Education is a must for all human beings to know their position in ___universe. [HSTU : 14-15]



A an B.a C. this D. the ®Show Explanation

Chapter (0): Completing Sentence

Several of washers and dryers are out of order and- [HSTU : 19-20]

A. need to be repairing  B. repairing is required of C. require that the be D. need to be repaired
them repaired

Yoga is __ a good exercise for _ breathing, [HSTU : 19-20]
A. taken, controlling B. treated, considerable  C. not, slowly D. considered, controlling

Ana and Nipa____, not____ to each other for two years due to a misunderstanding. [HSTU : 18-19]
A. are, spoken B. are, speaking C. has, spoken D. have, spoken

The plot of story is so _________ that I can predict the outcome. [HSTU : 18-19]
A, Complicated B. Obvious C. Fantastic D. Significant

[HSTU : 18-19]

We are working together for a common_

A. courtesy B. decency C. people D. purpose @Show Explanation

No sooner had the thief seen the police man____. [HSTU : 18-19]

A. then he ran away B. than he ran away C. he had run away D. when he ran away @Show Explanation

P
&
d
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We agreed a certain course of action. : 18-19]

A. with B. for C. at D. to
Pahela Baishak ..... (have) a special significance as if for a part of Bengali culture and [HSTU : 17-18]
tradition.

A. had B. had been C. decide D. decider

He is both a student --------oeeeeeeeeneen [HSTU : 17-18]
A, as well as a player B. as well as plays geme C. and a player D. and plays well

All___ animals are not dangerous [HSTU : 16-17]



A, are B. tigers C. that
We often ___victim of circumstances.

A, fallen B. felt C. fall
The condition of the worker is___.

A, pitiful B. piteous C. pitiable

D. wild @Show Explanation

[HSTU : 14-15]

®Show Explanation

D. did fall

[HSTU : 14-15]

®Show Explanation

D. pitfail

Chapter (0): Conditional Sentence

If we practiced speaking English, we speak Better.

A. can B. could have C. could

Fill in the blank with the appropriate word, phrase, and. clause(s): (11-17)

If you had come, I there.

A, would go B. Would be gone C. would be going

If you (heat) a metal ball, it gets bigger. Choose the correct word

A. heats B. heated C. heat

Which one is correct?

A, If you will not hurry,

you will miss the train.  you will miss the train.  you will miss the train.

If the price is low, demand___.

A. is increased B. will be increased C. would be increased

If cigarettes were banned life___.

A. will be healthier C. should become

healthy

B. becomes healthier

If you had gone there, you___it.

A. would have got B. would got C. will get

B. If you shall not hurry, C. If you did not hurry,

[HSTU : 18-19]

®Show Explanation

D. would have

[HSTU : 18-19]

[HSTU : 17-18]

[HSTU : 17-18]

®Show Explanation

D. If you do not hurry,
you will miss the train

[HSTU : 16-17]

D. will increase ©show Explanation

[HSTU : 16-17]

®Show Explanation

D. would become healthy

[HSTU : 16-17]

®Show Explanation

D. have got



If you had worked hard, you(pass) [HSTU : 16-17]

A. would have passed B. would passed C. passed D. will pass
If you lived in England, you (speak) English fluently. [HSTU : 16-17]
A. would speak B. would C. should speak D. must

'If I were you.' Complete the sentence [HSTU : 14-15]

A. T should accept the job B. I would accept the job C. I will accept the job ~ D. I must accept the job [EEETER T Ly

If you would let me know the result Complete the sentence identifying the answer [HSTU : 14-15]

A. I would be grateful to B. I should be grateful to C. I may grateful to you D. I may be grateful to ©Show Explanation

you you you

Chapter (0): Dangling Modifier

Having had her dinner___, [HSTU : 16-17]
A. the girl goes to bed B. the girl go to bed C. the girl went to bed  D. the girl went to bed
His performance is better than____. [HSTU : 19-20]
Al B. me C. my D. mine
Choose the correct sentence: [HSTU : 19-20]

A. He is as good as his  B. He is the star of the  C. The song like a cuckoo D. The boy take after his [SELTIA2sJEHEET
brother. family father

Very few boys in the class are as brave as Selim (Make it Comparative degree). [HSTU : 18-19]

A. Selim is braver than  B. Selim is braver than  C. No other boys in the D. Selim is braver than ©Show Explanation
most other boys in the  any other boys in the class is braver than Selim other boys in the class
class class

Cox's Bazar is one of the most beautiful sea beaches in the world (make it positive) [HSTU : 17-18]



A, Cox's Bazar is the B. Cox's Bazar is the C. The most beautiful sea D. Very few sea beaches
most beautiful sea beach world's most beautiful sea beaches in the world is  in the world are as
beach Cox's Bazar beautiful as Cox's Bazar
Trees are our best friends (make it negative) [HSTU : 17-18]
A. Don't have any friend B. Not only friends as C. No other friend as D. No other friend is as
as good as tree good as trees good as tree good as tree
E-mail is cheaper than telephone calls (make it positive) [HSTU : 17-18]

A. Telephone calls are as B. Telephone calls are not C. Telephone calls are as D. Telephone calls are not [RSSLTIASSJELELTY

cheap as it as cheaper as it cheaper as it as cheap as E-mail

A tragedy is ___ than a comedy. [HSTU : 16-17]
A. more deep B. deeper C. deepest D. deep

T A0SR oS! =T [HSTU : 16-17]
A. The flower is red like B. The flower is too red C. The flower is red as D, The flower is red
blood to blood blood blood like

Choose the correct sentence: [HSTU : 16-17]
A, The rice of Dinajpur is B. The rice of Dinajpur is C. The rice of Dinajpur D, Rices of Dinajpur are
better than Rajshahi better than that of are better than rices of  better than rice of

Rajshahi Rajshahi Rajshahi

Chapter (0): Gerund Infinitive, Participle

Choose the correct form of verb: I really enjoy (speak) English. [HSTU : 19-20]

A. to speak B. speaking C. speak D. spoke

Chapter (0): Group verb/ Phrasal verb

Roafs of house - away. [HSTU : 19-20]

A. blow B. blows C. are blown D. is blown ©Show Explanation

Choose the correct sentence: [HSTU : 19-20]

A. Call in question. B. Call to question C. Call to question D. None of the above



I count ___your help. [HSTU : 14-15]

A. after B. with C. upon D. for
My alarm clock ___ off in the middle of the night and woke me up. [HSTU : 14-15]
A go B. set C. went D. close
He died ___ fever. [HSTU : 14-15]
A to B. of C. off D. with
1560 is the year when- [HSTU : 16-17]

A. Shakespeare born then. B. Shakesperare born. C. Shakespeare was born. D. Shakespear's born. ©show Explanation

Chapter (0): Miscellaneous

Mr. Khan a professor of English lives in Magura (put punctuation). [HSTU : 17-18]

A. Mr. Khan, a professor B. Mr. khan a professor  C. Mr. khan a professor  D. Mr. Khan a professor [ReUE252EREEEN

of English lives in of English lives, in of English lives in of English lives in
Magura. Magura. Magura. Magura.

He is I think honest man (put punctuaton) [HSTU : 16-17]
A. He is I think an honest B. He is I think an honest C. He is, I think an D. He is, [ think an
man, man. honest man. honest man

Choose the correct sentence: [HSTU : 15-16]
A. Open page at 60 B. Open page 60 C. Open at page 60 D. Open at the page 60

'The' is used before:- [HSTU : 14-15]
A. USA B.CA C. Apple D. pen

Chapter (0): Narration

Change the speech:“Will you make coffee?" He said to me. [HSTU : 19-20]



A. He said whether I can B. He asked me if I would C. He said to me if I

make coffee. make coffee.

could make coffee.

Change the speech:Nahim prodhan says that she did not go there.

A. Nahim prodhan says "I B. Nahim prodhan says "I C. Nahim Prodhan says "I

did not go there." do not go there."

did not went there."

Change the speech: He said to me, "Please help me."

A. He said to me that

please help me please help me

B. He requested me that C. He requested me to

help him

Change the speech: He said, 'Thanks, my friend "

A. He told his friend
thanks

B. He Thanked his friend C. He said thanks to his

friends

Change the speech: I requested her to give me a cup of tea.

A. T said to her "You may B. I said her "Could you C. ]I said to her, "Can you

give me a cup of tea"

give me a cup of tea"

give me a cup of tea"

Change the speech: You said to him, "Would you help me please"

A. You asked him politely B. You asked him politely C. You asked him if you

if he would help you if he would help you
Change the speech: (84-85)
Anis said, 'T must write a letter'

A. Anis said, 'I must

write a letter’ write a letter

He said, Alas! 'I am ruined."

A. He exclaimed with
sorrow that he is ruined sorrow that he was

ruined

B. He exclaimed with

would help him please

B. Anis said that he must C. Anis said he had to

write a letter

C. He exclainmed that he
was ruined

Change the speechHe said, "Would that I were rich".

A. He said that he were
rich. rich.

B. He wished he would be C. He said would that he

were rich.

D. He ordered me to ©Show Explanation

make coffee.

[HSTU : 19-20]

D. Nahim Prodhan says @Show Explanation

that I did not go there.

[HSTU : 19-20]

®Show Explanation

D. He requested me that I
helped me

[HSTU : 19-20]

D. He thanked to his ©Show Explanation

friend

[HSTU : 19-20]

D. I ordered her "Give me [RcLlRsJEuEETL]

a cup of tea"

[HSTU : 19-20]

D. You asked him if he ®Show Explanation

would help you.

[HSTU : 18-19]

D. Anis said that he had [RSSLEIRs e T

to write a letter
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: 18-19]

®Show Explanation

D. He exclaimed with
sorrow that he has been

ruined

[HSTU : 18-19]

®Show Explanation

D. He wished that he had
been rich.



Change the speech: (84-85)
He said to me "You cannot do it this way.

C. He said to me that I

could not have done it

A. He told me that I B. He said to me that I
could not do it that way. could not have done it

that way. that way.

Change the speechYou said "you are right"

A. You told me that you B. You told me that I was C. You told me that I am
are right right right
He said, " Whom do you want?"

C. He asked me if 1 had
wanted.

B. He asked me when I

had.

A, He asked my when I
had wanted.

Change the narrationHe said, "Good morning, Mr. Kamal."

B. He wished Mr. Kamal C. He said Mr. Kamal

good morning

A. He had wished Mr.

Kamal good morning good morning

He said, "The train reached at nine."

A. He said that the train B. He said that the train C. He said that the train

has reached at nine. reached at nine. had reached at nine.

Change the narrationThank You.

B. He told me that thank C. He had thanked me
you

A. He thanked me

Change the voice as directed. What did they pay you for doing the job?

A. What had you been
paid for doing the job by for doing the job?
them?

B. What you were paid  C. What were you paid
for doing the job by

them?
Change the narrationYou Said to me, "you do not do your duty".

C. You said to me that I
do not do my duty

A. You told me that I did B. You said to me that I

not do your duty did not your duty

[HSTU : 18-19]

®Show Explanation

D. None of the above

[HSTU : 18-19]
D. You told me that you
were right

[HSTU : 17-18]
D. He asked me whom I
wanted.

[HSTU : 17-18]

D. He told me Mr. Kamal [RSLlIR=sdEET

good morning

[HSTU : 17-18]

®Show Explanation

D. He said that the train
has been reached at nine.

[HSTU : 17-18]

D. He wished thank to ©Show Explanation

me.

[HSTU : 17-18]

®Show Explanation

D. What were you being
paid for doing the job?

[HSTU : 17-18]

®Show Explanation

D. You told me that I did
not do my duty



Change the narration:
indirect)

A. She said to God that I

had never seen such a  never seen such a long

snake

had not seen such a long

long snake snake

Change the narration:

A. The man told the
police to please him

B. The man requested the C. The man said to the

police to help him police to please help him

Change the narration: You said, "He was these" (make it indirect)

C. You said that he had
there

A. You said that he had B. You said that he was

been here there

The stranger asked him where he lived. (make it direct)

A. "Where do you live?"
said he the stranger.

B. "Where you live?" the C. Where you lived that

stranger said. the stranger asked.

Change the narrationHe said to me "Do you like this shirt?"

B. He told me if I liked C. He asked me if I like
that shirt that shirt

A. He asked me if I like
this shirt

He said, " What a fool I am!" (make it indirect)

A. He exclaimed that he

was a great fool. fool. am a fool.

Change the speech:He said, "The sun moves round the earth".

B. He said that the sun  C. He said that the sun
moved round the earth  has moved round the
earth

A. He said that the sun

moves round the earth

He said to her, " What do you want." (make it indirect)

A. He told her what did B. He asked her what she C. He asked her what

she want. wanted., does she want

By God, I have never seen such a long snake, She said, (make it

B. She said that God had C. She exclaimed that she D. Swearing by God, she

The man said to the police, "Please help me."

B. He told me that I am a C. He exclaimed me that I D. He exclaimed that I

[HSTU : 17-18]

®Show Explanation

said that she had never
seen such a long snake

(make it indirect) [HSTU : 17-18]

®Show Explanation

D. The man requested to
the police politely to help

[HSTU : 17-18]

®Show Explanation

D. You said that he is
there

[HSTU : 16-17]

D. " Where you live?" @Show Explanation

said the stranger.

[HSTU : 16-17]

D. The boy told this shirt JECSluRas R0

[HSTU : 16-17]

®Show Explanation

was a great fool.

[HSTU : 16-17]

D. He said that the sun @show Explanation

moved round the earth

[HSTU : 16-17]

D. He asked her what did [EeLlR=s2cuz 00

she wanted.



I said him, " You may come in." (make it indirect)

C. I told him that he

might come in.

A. T told him that you

may be come in,

B. I told him that you

might come in.
Change the narrationKabir said, "I must write a letter."

B. Kabir told that he
should have a letter.

C. Kabir told that he will
have to write a letter.

A. Kabir said that he
would write a letter.

Change the speech:Mou said to me, "You can not do it thus now".

A. Mou told to me that I B. Mou told me that I
could not do that way  could not do it that in
them that way then

C. Mou told me that you
could not do that so

now
Change the speech:Nazma said, "I must write a letter."

C. Nazma said that she
would write a letter

B. Nazma said that she
should write a letter

A. Nazma said that she

had to write a letter
Change the narrationThe boy said, "Let me have a pencil".

A. The boy said that he
would have a pencil.

B. The boy said that he
might have a pencil.

C. The boy told that he
will have a pencil.

Mother said to me, "May you shine in life." (make it indirect)

A. Mother told me that I B. Mother prayed that I
might shine in life.

C. Mother prayed that I

may shine in life. might shine in life.

[HSTU : 16-17]

®Show Explanation

D. I told him that he

might be come in.

[HSTU : 16-17]

D. Kabir said that he had JRSSCIRasJE Rl

to write a letter.

[HSTU : 16-17]

D. Mou told to me that 1 [ESLIR=sJEuEIE]
could not do in thus

then

[HSTU : 16-17]

D. Nazma told that she @Show Explanation

shall write a letter

[HSTU : 16-17]

®Show Explanation

D. The boy told that he

needed a pencil.

[HSTU : 16-17]

®Show Explanation

D. Mother wished that I
might shine in life.

Chapter (0): Number

Which of the following word singular form?

A, Formula B. Agenda C. Oases
Find out the antonym wordVague
A, Victory B. Definite C. War

(9) WIEIE © AR MT & Ao =q)

[HSTU : 19-20]

[HSTU : 18-19]

[HSTU : 17-18]



A, Heavy rainfall occurs B, Enormous rainfall C. Much rainfall observed D. There is a heavy
during Ashar and happened during Ashar  in Ashar and Sharbon rainfall in the months
Shrabon. and Shraborn Ashar and shrabon.

Which is the plural form of the word 'Hero'? [HSTU : 17-18]
A. Heros B. Heroes C. Herois D. Heross
Find the antonym of the wordAmazing [HSTU : 16-17]
A. Extraodinal B. Exceptional C. Overwhelmed D. Ordinary
I count ___your help [HSTU : 15-16]
A. after B. upon C. for D. with
Find out the correct analogy : medicine :illness [HSTU : 15-16]
A, law: anarchy B. hunger: thirst C. Etiquette :discipline  D. Love:treason
Choose the correct sentence: [HSTU : 15-16]
A, Paper is made of wood B. Paper is made from C. Paper is made by wood D. Paper is made on

wood wood
i BT AT e 7R [HSTU : 14-15]

A. 1 am not habituated to B. I am not habituated to C. I am not habituated to D. I am not drinking tea [RELLIRESILEEtS
drink tea tea take tea

TR “iRes fe ek zm=- [HSTU : 14-15]

A. The river is flowing  B. The river flowing to  C. The river flowing over D. None of these ©Show Explanation
towards the hill the hill the hill

Chapter (0): One Word Substitution

A person who has lived in and knows about many different parts of the world is a __ [HSTU : 19-20]
A. Philanthropist B. Cosmopolitan C. Tourist D. Urbanite

Chapter (0): Parts of speech



I prefer tea - milk. [HSTU : 19-20]

A. than B. then C. to D. more ©Show Explanation

I _ television every evening. [HSTU : 19-20]
A. watches B. am watching C. watch D. am watch

He waters the plants everyday. Here "waters " is - [HSTU : 17-18]

A, adjective B. verb C. adverb D, noun ©Show Explanation

Name the parts of speech of underline word. He has been listening on going there. [HSTU : 17-18]
A. Adverb B. adjective C. Noun D. Verb
Which one is correct? [HSTU : 17-18]
A. Did you finish the B. Did you finished the  C. Have you finish the = D. Have you finished the

work yet? work yet? work yet? work yet?

Which one is a verb? [HSTU : 17-18]

A. lemonade B. Sanitation C. Chronicle D. International ©Show Explanation

The word Friendly is- [HSTU : 17-18]

A. Noun B. Adverb C. Verb D. Adjective ©show Explanation

What parts of speech is 'extraordinary' ? [HSTU : 17-18]

A. noun B. verb C. adverb D. adjective ©show Explanation

She cooks better than her mother. The word better is- [HSTU : 16-17]
A. adjetive B. verb C. adverb D. pronoun

She got a letter typed. The underline word is a- [HSTU : 16-17]
A. adverb B. adjective C. verb D. interjection

Change the word 'equal' into a noun [HSTU : 16-17]



A, equality B. equally
Find out the noun of the following,

A. national B. nationally

C. equate

C. nationalisa

He was punished by a fine. The word fine is a-

A. noun B. pronoun

Closing is Closing remarks is a-

A. noun B. preposition
Complete the sentence, You ________ it.
A, ought not do B. out not do

Choose the correct sentence;

A, When the police seen B. When the police saw
the thief, he ran away the thief, he ran away

We ___ dinner together tomorrow
A. will have B. would be have
The word "diabetic" is

A. a noun B. an adjective

C. adjective

C. adverb

C. ought not to do

C. When the thief see the

police, he ran away

C. will have had

C. Both a noun and an
adjective

The patient died after the Doctor had come. Here 'after’ is-

A. conjunction B. preposition

C. an adverb

D. equalize

D. nationality

D. verb

D. adjective

D. Should not to do

D. When the thief see

police, he ran away

D. have

D. a noun adjective

D. an adjective

He sleeps a sound sleep. Name the parts of speech of the underlined word.

A, pronoun B. Noun
The word 'intolerable ' is-

A, Verb B. Conjunction

C. Verb

C. Adjective

D, adverb

D. Adverbs

®Show Explanation

[HSTU : 16-17]

®Show Explanation

[HSTU : 16-17]

®Show Explanation

[HSTU : 16-17]

®Show Explanation

[HSTU : 16-17]

®Show Explanation

: 16-17]

®Show Explanation
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[HSTU : 16-17]

®Show Explanation

[HSTU : 15-16]

®Show Explanation

[HSTU : 15-16]

®Show Explanation

[HSTU : 15-16]

®Show Explanation

[HSTU : 15-16]

®Show Explanation



What is the adjective of the word 'Circle'? [HSTU : 14-15]

A. Circular B. Circulate C. Circulation D. None ©Show Explanation

What is the verb from of the word 'equal'? [HSTU : 14-15]
A. equality B. equally C. equaled Dsrqpiize

What is the adjective form of the word 'imply"? [HSTU : 14-15]

A, implication B. implicit C. implicity D. implosive ©Show Explanation

What is the function of the underlined word? "There is a big pond near the school." [HSTU : 14-15]

A, Noun B. Pronoun C. Adjective D. Preposition ©Show Explanation

What is the function of the underlined word? "The war lasted long'. [HSTU : 14-15]
A. Noun B. Verb C. Preposition D. Adjective
What is the function of the underlined word?'Please do not look back. [HSTU : 14-15]
A. Pronoun B. Noun C. Adverb D. Adjective
What is the function of the underlined word?"The house is quite near.’ [HSTU : 14-15]
A. Pronoun B. Adjective C. Preposition D. Verb

Chapter (0): Pin Point Error

Many exercise such as calisthemics, running, or_to swim involve producing muscle [HSTU : 18-19]

tension through a range of movements that_are called isotonics (Find out the incorrect
part)

A. such as B. to swim C. through D. are called
Chapter (0): Preposition
Ice changes water. [HSTU : 19-20]

A, into B. with C. to D. in ®Show Explanation

He is devoid common sense, [HSTU : 19-20]




A. on B. to C. of

I have confidence - you.

A. on B. at C. upon
She preferred to put the books the window.
A by B. within C. with

The family does not feel_____going outing this season.

D. through ®Show Explanation

[HSTU : 19-20]

D. in ®Show Explanation

[HSTU : 18-19]

D. for ®Show Explanation

[HSTU : 18-19]

A in B. on C. like D, of
Fill in the blank with the appropriate word, phrase, and clause(s): (86-93) [HSTU : 18-19]

He is blind___one eye.

A. with B. for C. at
He has assured me _____ safely.
A, with B. at C. for

A man is known the company he keeps.

A. by B. for C. with

Fill in the blanks with appropriate words): (31-34)There is no cure
A, For B. To C.In

She died____malaria but her husband died____grief.
A, ofby B. of from C. by,of

Who are eligible higher education?

A. on B. to C. for

He is — home.

A. at B. over C. there

. of ®Show Explanation

[HSTU : 18-19]

. of ®Show Explanation

[HSTU : 17-18]

. from @show Explanation

...... hepatitis. [HSTU : 17-18]

. Of ®Show Explanation

[HSTU : 17-18]

, from,of ©Show Explanation

[HSTU : 17-18]

.in ®Show Explanation

[HSTU : 17-18]

. up ®Show Explanation



I was born — Bangladesh.

A in B. on

I poured milk —— the bottle.

A, on B. in

Find the synonym of the word: Acclaim

A. Applaud B. Rebuke
Who will account _______ the loss?
A at B. over, beyond

all his wealth, he is unhappy.

A At B. The

Thanks___his timely rescue, the child escaped.

A by B. for
He is not eligible ___ the point.
A, for B. the

. at

. into

. Chide

. on, beyond

. On

. to

. of

The boy ___ in the accident was taken to the hospital

A, injured B. injures
The dog jumped

A. over, behind B. over, beyond
I differ___you on this point.
A to B. at

Alex and I went out ___the boat.

A. on B. by

C. injury

our teach.

C. on, beyond

C. by

C.in

. over

. to

. Condemmation

. with, behind

. For

. with

. On

. injure

. with, behind

. with

. with

[HSTU : 17-18]

®Show Explanation

[HSTU : 17-18]

@Show Explanation

[HSTU : 16-17]

®Show Explanation
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®Show Explanation
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[HSTU : 16-17]

®Show Explanation

[HSTU : 16-17]

®Show Explanation

[HSTU : 16-17]

®Show Explanation

[HSTU : 16-17]

®Show Explanation
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®Show Explanation
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[HSTU : 16-17]

®Show Explanation

[HSTU : 15-16]

®Show Explanation



visiting South Koeria.

He is intent
A to B. for C.on D. from
I am looking ___ the letter
A. to B. by C. for D. About
Can you think a better solution?
A, for B. of C. at D. with
Water freezes ___ 0°C.
A in B. at C. for D. around

Select the correct sentence

A. The train is running  B. The train is running in C. The train is running  D. The train is running to

on time time with time time

Chapter (0): Pronoun

Tellme ____  that
A, whom told you B. that told C. who told you D. told
Please vote for the member has done the most for our village.
A. whom you believe B. who you believed C. that you believes D. who you believs

Write the parts of speech of the underline word. Which of the books do you like?
A. Adverb B. Pronoun C. Noun D. Verb
Which one in reflexive pronoun?
A. He B. Each C. Who D. Myself

Choose the correct sentence:

[HSTU : 15-16]

®Show Explanation

[HSTU : 15-16]

®Show Explanation

[HSTU : 14-15]

®Show Explanation

[HSTU : 14-15]

@Show Explanation

[HSTU : 14-15]

®Show Explanation

[HSTU : 18-19]

®Show Explanation

[HSTU : 18-19]

®Show Explanation

[HSTU : 17-18]

®Show Explanation

[HSTU : 17-18]

®Show Explanation

[HSTU : 17-18]



A, One should do his duty B. One should do their ~ C. One should do one's  D. One should do his
duty duty duties

Choose the correct sentence:

A. It is you who is to B. It is you who are to  C. It is you who is late  D. It is you who has won

pay leave the prize
He is Mr. Kabir I think, is the manager think___is?

A, who B. whom C. what D. whose
Which one is the reflexive pronoun?

A. Who B. one C. himself D. they

Chapter (0): Right Form of Verb

A friend of mine phoned ____ me at party.

A. for invite B. to invite C. for inviting D. for to invite
I the oth letter of English alphabet.

A. is B. am C. are D. will be

Choose the correct form of verb:In those days there (be) no steamships.

A is B. are C. was D. were
You had better here.
A, stayed B. stay C. staying D. to

Choose the correct sentence:

A, I informed the matter B. I informed the police C. I informed the matter D. I know the matter to
of the place of the matter to the police the police

— we cannot attain success.

A. we should work hard  B. without working hard C. only hard working D. work hard

®Show Explanation

[HSTU : 16-17]

®Show Explanation

: 16-17]

®Show Explanation
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[HSTU : 16-17]

®Show Explanation

[HSTU : 19-20]

®Show Explanation

[HSTU : 19-20]

®Show Explanation

[HSTU : 19-20]

®Show Explanation

[HSTU : 19-20]

®Show Explanation

[HSTU : 19-20]

@Show Explanation

[HSTU : 19-20]

®Show Explanation



Fill in the blank with the appropriate word, phrase, and clause(s):The potato chop was [HSTU : 18-19]

very hot. He let ______ just in time.

A. alone it B. go alone it C.goit D. go of it
Nobody believed Ahmed at first but we to be right, [HSTU : 18-19]
A. came out B. turned C. worked out D. carried out
Would that I ____ in the sky! [HSTU : 18-19]
A, could fly B. fly C. flown D. am flying
I wish I my home work last night [HSTU : 18-19]
A. did B. had done C.do D. was doing
Choose the correct form of the verb: (96-97) [HSTU : 18-19]

He (go) to bed at ten o'clock every day.

A, gone B. going C. goes D. went ®Show Explanation

@1 _______ the pyramids [HSTU : 18-19]

A. have never seen B. None of these C. never saw D. never seen ®Show Explanation

He intends to in the country for two months. [HSTU : 18-19]
A. live B. halt C. stop D. stay
You had better____the law. [HSTU : 18-19]

A. obeying B. to obey C. obey D. obeyed ©Show Explanation

Fill in the blank with the appropriate word, phrase, and clause(s):English is in [HSTU : 18-19]

many countries.

A. spoken B. spoke C. speaking D. speaks @Show Explanation

We eat so that [HSTU : 18-19]

A. we may live B. we must live C. we eat rice D, show eat fruit ©®Show Explanation



Noman ran fast lest , he ---ooooveeeeeeiennen miss the class.
A. could B. should C. would
Choose the correct sentence

A. 1 am looking forward B. I am looking forward C. I am look forward to

to see you. to seeing you. see you.
He worked instead of.

A. playing B. play C. having played
She looks forward to___.

A. see you soon B. hear for you soon C. hearing from you

soon

D. can

D. I am looked forward to

see you.

D. had played

D. give you gift

Choose the right form for the verb: It is many years since I (see) Obama.

A. had seen B. seen C. saw

I wish I____dead.

A. am B. was C. have
Sick people want to ___

A. grow better B. be cured C. have getting better
He insisted that I should go. Make it simple.

A. He insisted for my B. He insisted on my C. He insisted my going

going going
Choose the correct sentence:

A. He insisted me to do  B. He insisted in doing  C. He insisted me on
this work this work doing this work

Choose the correct sentence:

D. was seen

D. were

D. get better

D. He interested to my
going

D. He insisted on my
doing this work

[HSTU : 17-18]

®Show Explanation

[HSTU : 16-17]

@Show Explanation

[HSTU : 16-17]

®Show Explanation

[HSTU : 16-17]

@Show Explanation

[HSTU : 16-17]

®Show Explanation

[HSTU : 15-16]

®Show Explanation

[HSTU : 15-16]

®Show Explanation

[HSTU : 15-16]

®Show Explanation

[HSTU : 15-16]

®Show Explanation

[HSTU : 15-16]



A, I prefer sing to
dance

B. I prefer singing to
dance

Use right from of the verb. Babor (defeat) Ibrahim Ludi in panipath.

A. defeated B. was defeated

Select the correct sentence

A If I am a king! B. If I was a king!

C. I prefer singing to
dancing

C. defeats

C. If 1 have been a king!

D. I prefer sing to
dancing

D. defeating

D. If I were a king!

®Show Explanation

[HSTU : 14-15]

®Show Explanation

[HSTU : 14-15]

®Show Explanation

Chapter (0): Sentence Correction

Choose the correct sentence:

A. I forbade him from
going.

Choose the correct sentence:

B. He knows English
beside Bengali

A, The sky is over our
head

Choose the correct sentence:

A. We paid a visit to his B. We paid visit to his

village. village.

Choose the correct sentence:

A. Eat the whole banana B. Eat whole banana

Choose the correct sentence:

A. 1 am acclimatized to  B. I am acclimatized by

this environment tis environment

Choose the correct sentence.

A. Columbus did not first B. Columbus does not

discover America first discover America

Choose the correct sentences:

B. I forbade him to going. C. I forbade him going.

C. Divide the mangoes
among the two brothers

C. We paid a visit to his
villages.

C. Eat whole of banana

C. I am acclimatized
using this environment

C. Columbus did not

discover America

D. I forbade him from not

to going.

D. He knows English
besides Bengali.

D. We paid a visiting to
his village.

D. Eat the whole of

banana

D. I am acclimatized on
this environment

D. Columbus had not at
first discover America

[HSTU : 19-20]

®Show Explanation

[HSTU : 19-20]

®Show Explanation

[HSTU : 19-20]

©Show Explanation

[HSTU : 19-20]

®Show Explanation

[HSTU : 19-20]

®Show Explanation

[HSTU : 18-19]

®Show Explanation

[HSTU : 18-19]



A. Each boy and each girl B. Each boy and each girl C. Each boys and each

has a pen. have a pen.

Choose the correct sentence.

A. He gave me his advice B. He took some foods for C. He has much works to

his parents

Choose the correct sentence.

A. 1 forbid him not to go B. I forbid him going

Choose the correct sentence.

A. I left the book to him B. I left the book with
him

Question

A. I need a few furnitures B. do not need many
furnitures

Choose the correct sentences:(79-81)

A. 1, you and he were B. You, he and I were

present in the meeting.  present in the meeting,

Choose the correct sentences:

A. Tt is raining B. Rain is coming

The presence of students is important". Which of the statements below is correct for

the sentence?

B. Subject and verb do
not go together.

A. Subject agrees with

verb

This book is quite similar ____

A, than a story told our B. to the one I read last

teacher week

girls has a pen.

do today

C. I forbid him to go

C. I left the book by him

C. I do not need a few
furnitures

C. You, he and I was
present in the meeting.

C. Rain is falling

C. Subject differ from

verb.

C. of that film we saw at
school

®Show Explanation

D. Each boys and girls
has a pen.

[HSTU : 18-19]

D. It is a fine music oshow Explanation

[HSTU : 18-19]

D. I forbid him from ©Show Explanation

going

[HSTU : 18-19]

D. I left the book near ©show Explanation

him

[HSTU : 18-19]

D. I need some furniture [RSSLTIRZsIE T

[HSTU : 18-19]

D. He, you and I was ©Show Explanation

present in the meeting,

[HSTU : 18-19]

®Show Explanation

D. Rain is dropping

[HSTU : 18-19]

D. Subject is in plural ©Show Explanation

number.

[HSTU : 18-19]

®Show Explanation

D. with the "Treasure
Island"



Choose the correct sentence: (80-81)

A. The jury are arguing  B. The jury is arguing

among themselves among themselves

Which one is the incorrect sentence?

A. The land is belonged  B. They parted form one

to an old lady another suddenly.

Which one is correct?

A. He had learnt his B. He had his lessons

lessons.

Which one is correct?

A. He went there walking B. He went there walking

on foot

Choose the correct sentence.

A. I am looking forward B. I am looking forward

seeing you to see you

Choose the correct sentence.

A. one of my friends are B. one of my friends was

a lawyer a lawyer

Which one is correct?

A. So far I know he is B. What name shall I call

innocent you?

Which one is correct?

A. The intruder stood B. The intruder stood

quietly for few moment quietly for few time

Choose the correct sentence.

C. The jury are argued

among themselves

C. The leader expressed
himself forcibly

C. He learnt his lessons

C. He went there by

C. I am looking forward

to seeing you

C. one of my friends is a

C. So far I knew he is

[HSTU : 18-19]

D. The jury has a_rgued @Show Explanation

among themselves

[HSTU : 18-19]

D. Mother bought me an [RetuRas T EET

ice cream.

[HSTU : 17-18]

D. He will learn his ©Show Explanation

lessons

[HSTU : 17-18]

D. He went there on foot. JRSSLEIR=sJE EaT

[HSTU : 17-18]

D. I am looking forward [EEECARE L Ly

to has see you

[HSTU : 17-18]

D. one of my friends ©Show Explanation

were a lawyer

[HSTU : 17-18]

D. So far as I know he is [RSLLIASsIEER0

innocent.
[HSTU : 17-18]
D. The intruder stood

quietly for a few

moments

[HSTU : 17-18]



A. You had better went
home.

B. You had better go

home.

C. You had better gone

home home.

Choose the correct sentence: Professor Zahir will not be able to attend the meeting

tonight because-

B. He must to teach a
class

A. He will be teaching a
class

Choose the correct sentence

A. Does he know to
typing? typing?
Choose the correct sentence

A. Everything including
the books was bought.

B. Everything including
the books have bought.

Choose the correct sentence

A. He ran away having

take the money take the money

Choose the correct sentence

A, How a good man he is! B. How good man is he!

Choose the correct sentence:

A. I and he is brother. B. He and I am brother

Choose the correct sentence:

A. My friend could not
avoid to go.

B. My friend could not
avoid go.

Choose the correct sentence:

A. No sooner had I came B. No sooner I come then C. No sooner had I come D. No sooner had I come

than he went away. he went away.

Choose the correct sentence:

C. Of he will teach a class D. He will have teaching

a class

B. Does he knows how to C. Does he knows how to D. Do he knows to type?

type?

C. Everything inclding the D. Everything include the

books are bought. books were bought.

B. He ran away having to C. He ran away having to D. He ran away having

take the money taken the money

C. What is a good man is D. What a good man he
he! is!

D. I and he is brothers.

C. He and I are brothers.

C. My friend could not
avoid going.

D. My friend could not
avoid gone.

when he went away. than he went away.

D. You had better going

®Show Explanation

[HSTU : 17-18]

®Show Explanation

[HSTU : 16-17]

®Show Explanation

[HSTU : 16-17]

®Show Explanation

[HSTU : 16-17]

®Show Explanation

[HSTU : 16-17]

®Show Explanation

[HSTU : 16-17]

®Show Explanation

[HSTU : 16-17]

®Show Explanation

[HSTU : 16-17]

®Show Explanation

[HSTU : 16-17]



A Walking towards the B, While I walked C. 1 found the shop while D, When T turned left, 1
left, I found the shop. towards the left, I found walking towards the left. found the shop.
the shop.
Choose the correct sentence: [HSTU : 15-16]

A. T have never seen so a B. I have never seen a so C. I have never seen so  D. I have never seen so ©Show Explanation

dull boy dull boy dull boy dull a boy

Select the correct sentence. [HSTU : 14-15]
A. He went there walking B. He went there walking C. He went there by D. He went there on
on foot to foot walking footing

Chapter (0): Spelling

Choose the correct spelling. [HSTU : 19-20]
A, Aparhid B. Apartheid C. Apertheid D. Aparthyd
Find out the correct spelling, [HSTU : 19-20]
A, exaggerate B. exagerate C. exeggrate D. exaggerrate

Choose the word correctly spelt. [HSTU : 18-19]

A. desertation B. despatch C. desatisfaction D. dissident @Show Explanation

Identify the correct spelling. [HSTU : 17-18]

A. Newtonian B. Pneumonia C.35 D. Neumonia ©Show Explanation

Identify the correct spelling: [HSTU : 17-18]
A, Appropriat B. Aproperiate C. Appropriate D. Apropriat
Identify the correct spelling: [HSTU : 17-18]
A. Repitition B. Repeatition C. Repetition D. Repitition
Identify the correct spelling. [HSTU : 16-17]
A. Psycology B. Sychology C. Psychology D. Ysyshology



Which one is the correct spelling?

A. Councilor B. Councillor

Choose the correct spelling

A. Malicious B. Mellicious

Chapter (0): Subject-Verb Agreement

Choose the correct sentence:

A. One of the problems
are extremely easy to extremely easy to solve

solve.

"Half of the students_____going for the picnic". What will be the correct form of verb

in the sentence?
A. are/were
Which one is correct?

A. Everybody have gone
there

B. Everybody are gone
there

The match.......... on Saturday

A. is going on B. is going to be played

Which one is correct?

A. One of my best friends B. One of my best friend
is getting married today. is getting married today.

Choose the correct sentence:

A. Good grades received B. Every student in the
every student in the class class received good
grades

The committee —— already reached its decision.

B. One of the problems is C. One of the problems is D. One of the problem's

[HSTU : 15-16]

C. Counciller D. Councillar
[HSTU : 15-16]
C. Meilcious D. Mallicious

[HSTU : 19-20]

®Show Explanation

extremely easy to solve  are extremely easy to

solve.

[HSTU : 18-19]

C. has been D. has @Show Explanation

[HSTU : 17-18]

®Show Explanation

C. Everybody has gone  D. Every body was went

there there
[HSTU : 17-18]
C. is playing D. is going to be playing

[HSTU : 17-18]

C. One of my best friend D. One of my best friends JeiREREER

are getting married today is getting marry today

[HSTU : 17-18]

®Show Explanation

C. In class, every good D, Every student good

student received grades  grades received in class

[HSTU : 17-18]



A. have B. has

Choose the correct sentence:

A. He and T am well B. He and I are well

Either you or I ___ wrong,

A, are B. was

At least one of the students

A, get B. are getting
A basket of apples___ been sold.
A, have B. has

Choose the correct sentence

B. His informations is
false.

A. His informations are
false.

Choose the correct sentence

A. Neither of there two  B. Neither of these two

women are to be trusted. women is to be trusted.

Choose the correct sentence:

A. Many a man were present in the B. Many a man was

meeting present in the meeting

C. had

C. He and I were well

C. were

Full marks every time.

C. gets

C. having

C. His informations are
false.

C. Neither of these two
women has to be trusted.

C. Many a man had

present in the meeting

Neither Rahim nor Karim____ qualified for the admission test-2015

A. are B. is

C. were

Neither Mini or Rini____ qualified for the job.

A, are B. were

The virtues (be) always happy. Rewrite the sentence.

D. have had ®Show Explanation

[HSTU : 17-18]

D. He and I is well ©Show Explanation

[HSTU : 16-17]

®Show Explanation

[HSTU : 16-17]

D. have ®Show Explanation

[HSTU : 16-17]

®Show Explanation

D. haven't

[HSTU : 16-17]

D. His information is ©Show Explanation

false.

[HSTU : 16-17]

D. Neither of them., ©Show Explanation

[HSTU : 15-16]

®Show Explanation

D. Many a man have

been present in the

meeting
[HSTU : 15-16]
=
[HSTU : 15-16]

[HSTU : 15-16]



Als B. are C. have been D. are being ©show Explanation

Ruma as well as Jhuma ___ happy. [HSTU : 14-15]
A. were B. is C. are D. have been

Rewrite the sentence- 'The headmaster and the secretary of our school (be) present'. [HSTU : 14-15]

A. were B. is C. was D. had ®Show Explanation

Chapter (0): Tag Question

Nobody came, ___? [HSTU : 19-20]

A. didn't he B. did he C. did anybody D. didn't anybody ©Show Explanation

Chapter (0): Verb in Details

Choose the correct form of verb of the word: Success - [HSTU : 19-20]
A. Succeded B. Successive C. Succeed D. Success

Choose the correct form of verb of the word: Globe- [HSTU : 19-20]
A. Global B. Globally C. Globalize D. Globalization

Change the verb of the sentence. The examination result gave her pleasure. [HSTU : 18-19]

A. The examination result B. The examination result C. She was pleasing by  D. She was pleased to see [IEELELREs DY

pleases her give her pleasure her examination results  her examination result

Change the word decision into a verb [HSTU : 17-18]
A. Indecisions B. decidedly C. decide D. decider

I like playing cricket. Here playing cricket is- [HSTU : 16-17]
A. Completive B. Complement C. Object D. Subject

The tense of verb is related to [HSTU : 16-17]
A. Time B. Person C. Place D. Degree



I like playing cricket. Here Playing cricket is- [HSTU : 16-17]

A. transitive B. interansitive C. non-finite D. auxiliary ©Show Explanation
Chapter (0): Voice
Change the voice:Do you know them? [HSTU : 19-20]

A. Are they known to B. Are they known with  C. Are they known you? D. Is they known by you? JEESLtiR=s T et

you? you?

Change the voice:Don't make any mistake. [HSTU : 19-20]
A, Let not any mistake be B. Let not any mistake is C. Let is not any mistake D. Let not made any
made. made. be made. mistake.

Change the voice: The hunter killed a tiger. [HSTU : 19-20]
A. A tiger was kiled B. A tiger was being C. A tiger was killed by  D. A tiger should be

killed the hunter killed by the hunter

Change the voice: Do it - [HSTU : 19-20]
A. Let it be done B. It is done by you. C. Let done it by you. D. Let it done

Change the voice: Switch off the fan. [HSTU : 19-20]
A. The fan be switched  B. The fan be switch off C. The fan switched off.  D. Let the fan be
off. switched off.

Change the voiceHe is writing a letter. [HSTU : 18-19]
A. A letter is written by  B. A letter was written by C. A letter was being D. A letter is being
him. him, written by him. written by him.

He was seen by me carrying a basket. [HSTU : 18-19]
A. 1 had seen him B. I saw him carrying a  C. He saw me carrying a D. I see him carrying a
carrying a basket basket baske basket

Change the voice:(82-83) [HSTU : 18-19]

A race was run by me.



A, I run a race. B. I was run a race.

Change the voiceLet him do the work

B. Let the work be done
by him

A. Let him the work be
done

Change the voice: (82-83)
Take care of your health

A. Let your health taken B. Let your health be

care taken care of

Change the voiceDon't waste your time

A. Let your time but not B. Let your time not be

wasted wasted

Change the voice:Who opened the door?

A, By whom was the door B. The door opened by
whom?

opened?
Change the voice:Feed the poor.

A. Poor should be feed.  B. The poor should feed

Change the voice as directed.' Let the book be read by you.'

A. Read the book. B. Let read the book by

you.

Change the voice as directed: You and he were seen by us. (make it active)

A. We saw him and you B. We see him and you

Change the voice as directed: He pleases us, (make it passive)

A. We were pleased with B. We are pleased with
him

him

Change the voice:Whom do you want?

®Show Explanation

C. I ran a race. D. I runned a race.

[HSTU : 18-19]

C. Let the work done by D. He is requested do the JRtuRas

him

work

[HSTU : 18-19]

®Show Explanation

C. Let your health taken D. Health is taken care by

care of you

[HSTU : 18-19]

®Show Explanation

C. Let your time be D. Let not your time be

wasted wasted

[HSTU : 17-18]

®Show Explanation

C. By whom the door was D. By whom was opened

opened the door?

[HSTU : 17-18]

®Show Explanation

C. Let the poor be fed.  D. The poor have to be

feed

[HSTU : 17-18]

D. let the book be ©Show Explanation

reading by you.

C. You are to read the
book.

[HSTU : 17-18]

@Show Explanation

C. We saw you and him D, We saw both him and
you

[HSTU : 17-18]

C. We are pleased by him D. We will be pleased by [RetuRas it

him

[HSTU : 16-17]



A. By whom you are B. Who is wanted by C. Whom is wanted by

wanted? you? you?

He expects him soon. (make it passive)
A, He is expected soon

B. We are expected him C, He is expect soon
soon

He found it at last. (make it passive)
A. Tt was found by him.

B. It was found by him at C. It was found him at
last, last .

Change the voicePluck me a flower.

A. Let a flower be B. Do a flower be C. Let a flower be

plucked by me. plucked by me. plucked for me.

Change the voice:Promise should be kept

A. One should keep
promise

B. One should keep one's C. Promise should keep
promises

Change the voiceHe has been doing the work for a month.
A. The work has been B. The work has been C. The work had been
done by him for a month. being done by him for a

month. month.

Change the voice:His behavior pleased us all

B. we all were pleased at
his behavior

A. we all were pleased

with his behavior his behavior

Change the voice:We talked of them

A, we are talked with
them us

B. they were talked of by C. they were talked by
them

Change the voiceWhat has he done?

B. What has been he

done?

C. What he has been

done?

A. What he done?

being done by him for a

C. we all were pleased by

®Show Explanation

D. You are wanted by

whom?

[HSTU : 16-17]

D. We are expected soon [CStuRas Lzl

[HSTU : 16-17]

D. It is found him at last [ELIR=sIERIA

[HSTU : 16-17]

D. Let a flower be ©Show Explanation

plucked.

[HSTU : 16-17]

®Show Explanation

D. None of them

[HSTU : 16-17]

D. The work had been ©Show Explanation

done by him for a month.

[HSTU : 16-17]

D. we all were pleased to [RSLERasEEEL

his behavior

[HSTU : 16-17]

D. they were talked with ®Show Explanation

them

[HSTU : 16-17]

D. What has been done ©Show Explanation

by him?



Choose the passive from of "Let me do the work ".

A. Let the work done by B. Let the work be done C. The work be done by

me by me me

Who will do the work? Choose the correct passive form.

A. Who will be done the B. Who will done work?
work?

C. By whom will the

work be done?

'T have a cow.' Passive form of the sentence is-

A. A cow is have by me B. A cow is have been by C. I have had a cow

me

What is the passive form of 'Do the sum'

A. Let the sum be done  B. The sum is done by us C. The sum is done by

me

Which one is correct passive voice?

A, The jam is made from B. The jam are make of C. All the booking office
garden fresh kule apples. garden fresh kule apples. are computerize

[HSTU : 15-16]

®Show Explanation

D. Let the work be done
by I

[HSTU : 15-16]

®Show Explanation

D. Whom will the work
be done ?

[HSTU : 14-15]

D. A cow is had by me @Show Explanation

[HSTU : 14-15]

D. Done the sum ©Show Explanation

[HSTU : 14-15]

®Show Explanation

D. All the booking offices
is being computerized.
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[HSTU : 19-20]

®Show Explanation

[HSTU : 19-20]

®Show Explanation

[HSTU : 16-17]

®Show Explanation
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